0001992187008999

00 HEUFAE 06—

&

r AF P A4 f’::) 1
2014 4 B{AHEE o5 1 1 HHK
AB=/3, CA=3, BC=2
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(1) cos ZABC % skt k.
(2) OA %3kt L.
(3) I OABC Ofifk % kb k.

(1) AABC R 70T, 454 FF2 &),
AC = AB+BC~ 2. AB-BC cos/ABC

+ 4y -
< cos<ABCL = 4 7 = - 3
Z5HF 2 é//

(2) 0A 12 SHFEEF) 0 %42 T 9305 , FF3238 1)

CA

SinZABL =2k 0
i 73
> f " - By = ==
‘::’z‘r osLABC = "'i"'— 4 SsinldB¢ /—(—Z-') 3
. ~ j 3
S @RIV ALT. P=0Ar~ 2‘_@ = ;_[.1/33

4

G) ARE TR PRI, LA0C = 266"~ 2x2ABC
Csint Ao = sin (360 ~24A8C) = —sin2ZABC
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